5.2 Graphing Basics

For the equations below, fill out the table and graph the points.
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For the tables that you filled out, make an additional column for the rate of change. Pick out the rate of \\

change for each table,



3) Which equations had the same rate of change? What in the equation do you think determines what

? the rate ofﬁchange will be? "ﬂu, . \yk\u’:/ < “H’w, SAUNL,
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4) What point do you feel is the “center” of the rate of change?
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We are going to use this exploration as a guide to graphing:

In order to graph a parabola, you only {
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8) Given the equation and the vertex, graph each quadratic. Then identify each key feature.
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n= -1
by =C20x +6)(x + 2)
Vertex: (—4,8)
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S1(o vedloaty = - 24
x-intercept(s): (’ c/,O) ('7’103
y-intercept: ((’)/ ST

Axis of Symmetry: 4 = ~H§
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